

Confidentiality Requested:

Yes No

Kansas Corporation Commission Oil & Gas Conservation Division

1229361

Form ACO-1 August 2013 Form must be Typed Form must be Signed All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No. 15					
Name:	Spot Description:					
Address 1:	SecTwpS. R 🗌 East 🗌 West					
Address 2:	Feet from North / South Line of Section					
City: State: Zip:+	Feet from _ East / _ West Line of Section					
Contact Person:	Footages Calculated from Nearest Outside Section Corner:					
Phone: ()	□NE □NW □SE □SW					
CONTRACTOR: License #	GPS Location: Lat:, Long:					
Name:	(e.g. xx.xxxxx) (e.gxxx.xxxxx)					
Wellsite Geologist:	Datum: NAD27 NAD83 WGS84					
Purchaser:	County:					
Designate Type of Completion:	Lease Name: Well #:					
New Well Re-Entry Workover	Field Name:					
Oil WSW SWD SIOW Gas D&A ENHR SIGW OG GSW Temp. Abd. CM (Coal Bed Methane) Cathodic Other (Core, Expl., etc.): If Workover/Re-entry: Old Well Info as follows: Operator: Well Name: Original Comp. Date: Original Total Depth:	Producing Formation: Kelly Bushing: Total Vertical Depth: Plug Back Total Depth: Feet Multiple Stage Cementing Collar Used? Yes No If yes, show depth set: Feet If Alternate II completion, cement circulated from: sx cmt.					
□ Deepening □ Re-perf. □ Conv. to ENHR □ Conv. to SWD □ Plug Back □ Conv. to GSW □ Conv. to Producer	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)					
Commingled Permit #:	Chloride content: ppm Fluid volume: bbls Dewatering method used:					
Dual Completion Permit #:						
SWD Permit #:	Location of fluid disposal if hauled offsite:					
GSW Permit #:	Operator Name:					
	Lease Name: License #:					
Spud Date or Date Reached TD Completion Date or Recompletion Date	QuarterSec. TwpS. R East West County: Permit #:					

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY							
Confidentiality Requested							
Date:							
Confidential Release Date:							
Wireline Log Received							
Geologist Report Received							
UIC Distribution							
ALT I II Approved by: Date:							



Operator Name:			Lease Name:			Well #:		
Sec Twp	S. R	East West	County:					
open and closed, flow	ring and shut-in pressu	ormations penetrated. Dres, whether shut-in preith final chart(s). Attach	ssure reached stati	c level, hydrosta	tic pressures, bott			
		tain Geophysical Data a r newer AND an image f		gs must be ema	iled to kcc-well-lo	gs@kcc.ks.gov	v. Digital electronic log	
Drill Stem Tests Taker (Attach Additional S		Yes No			on (Top), Depth an		Sample	
Samples Sent to Geo	logical Survey	☐ Yes ☐ No	Nam	9		Тор	Datum	
Cores Taken Electric Log Run		Yes No						
List All E. Logs Run:								
		0.0000						
		CASING Report all strings set-o	RECORD Ne onductor, surface, inte		ion, etc.			
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs. / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives	
Durmaga	Depth		CEMENTING / SQU	EEZE RECORD				
Purpose: Perforate	Top Bottom	Type of Cement	# Sacks Used	Type and Percent Additives				
Protect Casing Plug Back TD								
Plug Off Zone								
Did you perform a hydrou	ulia fracturing tractment or	a thio well?		Yes	No (If No, ski	n quantiana 2 an	(d 2)	
	ulic fracturing treatment or otal base fluid of the hydra	aulic fracturing treatment ex	ceed 350,000 gallons?	= =	= ' '	p questions 2 an p question 3)	u 3)	
Was the hydraulic fractur	ring treatment information	submitted to the chemical o	disclosure registry?	Yes	No (If No, fill	out Page Three	of the ACO-1)	
Shots Per Foot		N RECORD - Bridge Plug			cture, Shot, Cement			
	Specify Fo	ootage of Each Interval Perf	orated	(Ai	mount and Kind of Ma	terial Used)	Depth	
TUBING RECORD:	Size:	Set At:	Packer At:	Liner Run:	Yes No		l	
Date of First, Resumed	Production, SWD or ENH	R. Producing Meth		Gas Lift C	Other <i>(Explain)</i>			
Estimated Production Per 24 Hours	Oil B		Mcf Wate			as-Oil Ratio	Gravity	
DISPOSITIO	ON OF GAS:		METHOD OF COMPLE	TION:		PRODUCTIO	DN INTERVAL:	
Vented Sold		Open Hole	Perf. Dually	Comp. Cor	mmingled	1110000110	TO THE LANGE.	
	bmit ACO-18.)	Other (Specify)	(Submit A	ACO-5) (Sub	mit ACO-4)			

Form	ACO1 - Well Completion
Operator	CMX, Inc.
Well Name	Krehbiel Trust SWD 1
Doc ID	1229361

Casing

Purpose Of String	Size Hole Drilled	Size Casing Set	Weight	Setting Depth	"	Number of Sacks Used	Type and Percent Additives
Surface	12.25	8.625	24	248	common	200	estimated sacks
Production	7.875	5.5	15.5	3852	AA2	170	



PAGE	CUST NO	YARD #	INVOICE DATE
1 of 1	10007	1718	09/25/2014

INVOICE NUMBER 91605227

Pratt

(620) 672-1201

B CMX INC

1 1700 N WATERFRONT PKWY BLDG 300 STE B

WICHITA

KS US

o ATTN:

67206

ACCOUNTS PAYABLE

LEASE NAME

Krehbiel Trust SWD

LOCATION

COUNTY

Rice

STATE

JOB DESCRIPTION Cement-New Well Casing/Pi

1

JOB CONTACT

JOB #	EQUIPMENT #	PURCHASE	ORDER NO.		TERMS	DUE DATE
40769381	27463				Net - 30 days	10/25/2014
			QTY	U of M	UNIT PRICE	INVOICE AMOUNT
For Service Dates	:: 09/24/2014 to 09	0/24/2014				
0040769381						
171811147A Ceme Cement 5 1/2" Long	ent-New Well Casing/Pi (pstring	99/24/2014				
AA2 Cement			170.00	EA	13.09	2,225.37
60/40 POZ			50.00	EA	9.24	462.01
C-41P			32.00	EA	3.08	98.56
Salt			854.00	EA	0.39	328.80 ⁻
Cement Friction Red	lucer		48.00	EA	4.62	221.77
FLA-322			80.00	EA	5.78	462.01
Mud Flush			500.00	EA	1.16	577.52
Gilsonite			850.00	EA	0.52	438.53
"Latch Down Plug 8	& Baffle, 5 1/2"" (Blu		1.00	EA	308.01	308.0
"Cmt. Shoe Packer	Type, 5 1/2"" (Red)"		1.00	EA	2,849.08	2,849.0
"Turbolizer, 5 1/2""	(Blue)"		10.00	EA	84.70	847.0
"5 1/2"" Basket (Blu	⊔e)"		1.00	EA	223.31	223.3
"Unit Mileage Chg (I	PU, cars one way)"		75.00	MI	3.27	245.4
Heavy Equipment M	lileage		150.00	MI	5.39	808.5
"Proppant & Bulk De	el. Chgs., per ton mil		761.00	EA	1.69	1,289.1
Depth Charge; 3001	1-4000'		1.00	EA	1,663.25	1,663.2
Blending & Mixing S	Service Charge		220.00	BAG	1.08	237.1
Plug Container Util.	Chg.		1.00	EA	192.51	192.5
"Service Supervisor	, first 8 hrs on loc.		1.00	EA	134.75	134.7
					! :	
PLEASE REMIT	TO: SE	ND OTHER CORRES	PONDENCE TO) :		

BASIC ENERGY SERVICES, LP BASIC ENERGY SERVICES, LP

PO BOX 841903 DALLAS, TX 75284-1903

801 CHERRY ST, STE 2100 FORT WORTH, TX 76102

SUB TOTAL TAX

13,612.83 344.24

INVOICE TOTAL

13,957.07



10244 NE Hwy. 61 P.O. Box 8613 Pratt, Kansas 67124 Phone 620-672-1201

FIELD SERVICE TICKET 1718 11147 A

Р	RESSURE PUI	MPING & WIRELINE	1-21	-6			DATE	TICKET NO			_
DATE OF 9 - 2	DATE OF 9 . 24 - 14 DISTRICT /					OLD I	PROD INJ	WDW	CUS ORD	TOMER DER NO	न).:
CUSTOMER (MX	FAC.			LEASE		15		\	WELL N	10.
ADDRESS					COUNTY	C		STATE	185		_
CITY STATE					SERVICE C	REW	16 h	/B . J	v ^a e		
AUTHORIZED BY	,				JOB TYPE:	16			40	5	
EQUIPMENT#	# HRS	EQUIPMENT#	HRS	EQL	JIPMENT#	HRS	TRUCK CALL	ED	DATE	AM	TIME
27467	-/						ARRIVED AT	JOB	Y	AM PM	1430
1997年730日 7日 - 1937) -		+ +				START OPER	IATION	242	AM PM	15 3/
1578 . 1 1 1			+ +			+	FINISH OPER	IATION	4	AM PM	915
——————————————————————————————————————			+ +			1	RELEASED			AM PM	1015
			1			 	MILES FROM	STATION TO	WELL	7.5	
products, and/or sup	is authorized to plies includes a	NTRACT CONDITIONS: (This of execute this contract as an all of and only those terms and but the written consent of an of	gent of the co	ustomer As	s such, the unde the front and ba	ersigned agre ck of this do	ees and acknowle cument. No addition	dges that this co onal or substitute	terms and	Vor cond	litions shall
REF. NO.		MATERIAL, EQUIPMENT	AND SERV	ICES US	ED	UNIT	QUANTITY	UNIT PRIC	E	\$ AMO	TNUC

(WELL OWNER OPERATOR, CONTRA								
ITEM/PRICE REF. NO.	MATERIAL, EQUIPMENT AND SERVICES	USED UNIT	QUANTITY	UNIT PRICE	\$ AMOUN	Т		
d 105	A40 CEMENT	5 K	170		2,890	00		
CF 163	1-1 1:2	5/5	50		6.00	00		
CC 165	. 1 F	16	32		135	00		
cc 111	3T	16	854		437	00		
CC 117	ESMEAT FAITHE BEZYKEN		48		338	00		
129	F14-322	Ib	30		460	00		
CC 30	GILSCAITE	16	550		57.9	50		
CF 617	Lateb Down I kny	94	1		400	O		
CF 1861	REMEDIUM PARKE SERE	. Oc	1		3,700	06		
CE 1151	Turbiliza,	P4	10		1116	20		
CF 1901	The FT	24	1		296	00		
CC 151	MUB flysh	5.01	500		750	00		
F 100	Lubup musica	mi	7.5		3.18	75		
F 10	Hearly milease	ra l	150		1.650	12		
E 113	BULB Detalen	IM	761		1.674	75		
CE ON	1. 1. To Con 1. 3. 4.	4h	1		2160	1.0		
CE 240	mixing Chipa-	5K			3.65	170		
CE 5.7	Plug Container	TOB	1		250	00		
5 1/3	Supervisor	29	11		175	00		
СН	EMICAL / ACID DATA:			SUB TO AL	13,612	53		
		SERVICE & EQUIPMENT	%TAX	ON \$	<u> </u>			
		MATERIALS	%TAX	ON \$				
				TOTAL				

SERVICE REPRESENTATIVE	THE ABOVE MATERIAL AND SERVICE ORDERED BY CUSTOMER AND RECEIVED BY



10244 NE Hwy. 61 P.O. Box 8613 Pratt, Kansas 67124 Phone 620-672-1201

FIELD SERVICE TICKET

MARIA SAMERA SERVICE TO LONG.					DATE TICKET NO.						
DATE OF JOB	/4 p	ISTRICT PART	1 1 1 de	44.3.4	NEW V	AET	PROD BINJ FIWOW [CUSTOMER ORDER NO.:			
CUSTOMER CATY, TAC.					LEASE /	048	iel that swo	WELL NO.			
ADDRESS					COUNTY A CE STATE / S						
CITY STATE					SERVICE CREW TASK Pale TOE						
AUTHORIZED BY					JOB TYPE: CHW LONE STILDING						
EQUIPMENT#	HRS	EQUIPMENT#	HRS	EQUI	PMENT#	HRS	TRUCK CALLED	DATE AM TIME			
27467	9524		Taylor del				ARRIVED AT JOB	AM A			
	19 100				The same of the	3 40	START OPERATION	AM 1			
WOMEN SCHOOL FOR		- 1		100 P	11.00	Ser	FINISH OPERATION	AM /			
•	7.1.1	TO ESPECIAL SERVICES					RELEASED	AM Q			
Maria de Maria de	1.5.4		W.		1.0530		MILES FROM STATION TO W	ELL 75			
The undersigned is auti	CONT norized to e	FRACT CONDITIONS: (This o	contract mu gent of the	ust be signed b customer. As	pefore the job is a such, the unders	commenc igned agr	ed or merchandise is delivered). ees and acknowledges that this contr	act for services, materials,			

products, and/or supplies includes all of and only those terms and conditions appearing on the front and back of this document. No additional or substitute terms and/or conditions shall become a part of this contract without the written consent of an officer of Basic Energy Services LP.

(WELL,OWNER, OPERATOR, CONTRACTOR OR AGENT)

TEMPRICE REF. NO.	MATERIAL, EQUIPMENT AND SERVICES USED	UNIT	QUANTITY	UNIT PRICE	\$ AMQUN	π		
G 105	AAD cement	SA	170		2,890	00		
CF 113	Copy 162	5K	50		600	00		
CE 105	C41 P	16	32	**	128	06		
cr 111	SOLT	1 1 1 his	554		425	00		
CC 112	Comeny Fration Redgier	1h	45		288	00		
CV == 434 "	114-22 - A-1	with.	SYF		600	00		
CC 201	GILSKNITE	lh	850		564	00 50		
11 607	Lately Orien Ily	Pu	1		400	00		
CF 1001	Compating Parker Short	Pa,			3,700	00		
11 1151	Turkets the same to be and the same true	Qu	104	To his such plants and	1,100	00		
OF 1901	the factor	APL .	177 S 1774 S 1775	The state of the s	290	00		
ce 151	mus flich	rist	500	The Real Property of	750	00		
E 101	Pubup prilips	991	75	. 計畫於註其愛	318.	75		
F 101	HEAVY MILEGED	Di I	150		1.050	15		
E ID	But K tiet week	Tim	761	· 上山港 有等	1.674	75		
CE 014	Der Charles	46	25 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2		2,160	00		
CF 740	MIXIAL Chairs	EA	220		308	00		
CF 54	Plus Cratainer	TIB	- 37 3 4 7		250	00		
5 113	Supering	24		50 A 10 C 10 C	175	00		
The same of the sa				SUB TOTAL	17/11	(3		
UH	EMICAL / ACID DATA:	1.3.16.0		, ru	1744	2/		
	SERVICE & E	QUIPMENT	2. 大型的 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1.					
State of the sea	MATERIALS		%TAX	ON \$				
				TOTAL	4 17 20	8.4		

SERVICE REPRESENTATIVE THE ABOVE MATERIAL AND SERVICE ORDERED BY CUSTOMER AND RECEIVED BY:

FIELD SERVICE ORDER NO.

(WELL OWNER OPERATOR CONTRACTOR OR AGENT)



TREATMENT REPORT

			,							CONTROL CONTROL						and the state of t		
-Customer CMX INC					Lease No.					Date 9-24-14								
Lease K/E	6 6 01 ·	Tour	SWD	We	eli#	1				21 - 2 - 211		٠,		/				
Field Order #	7 Station	GATT					Casing	5/2	Depth	13545	County	1/3/10	48		Sta	te/55		
Type Job	nw L	(NY 5	Triva	9				Fo	Formation Legal Description 1-21-1									
PIPE DATA PERFORATIN								O USEC	SED TREA				ATMENT RESUME					
Casing Size	Size Tubing Size		t	T.		Ac	id			F		PRESS ISIP						
Depth 3 44	3<4 Depth		Т	То		Pre	Pre Pad		Max			5 Min.						
Volume 7/	lume // Volume		Т	То		Pa	d		Min					10 Min.				
Max Press	Max Press	From	1	То		Fra	ac		Avg					15 Min.				
Well Connection	on Annulus Vol	- From	Т	То					НН		HHP Used			Annulus Pressure				
Plug Depth	Packer Dep) From	Т	Го		Fit	ısh			Gas Volu				Total Loa	.d			
Customer Rep	resentative 5	PITH			Statio	n Mar	nager 😕	12414)		Trea	iter J	/ -					
Service Units	247	3	1795	3	737	;			443									
Driver Names	JA	4	l.	14	u.			J	6									
Time	Casing Pressure	Tubing Pressure	Bbls. F	ump	ed		Rate					Servi	ce Log	4				
730								Ci	11 0	150	f-T	11	11 - 7	1.19				
								13	Bun E 2 CS: T' 354 " - 5 1.							1, .		
									T4: Bosca 1-3-5-7-7-11-13-15-17-19									
								Ei	75/2-	100	1							
1545								57	; 7	Bunk	18.	656		-9				
17.30							(Hicksyl TI PUMF 18K T' STUTTE										
1530								HL	HEESSYS TI FUMF TBK T' STUTTE									
0.0	300)			<u> </u>		H- 31965 r									
			12						MIX 12 BBL Mud flysh									
			5				5	117	i 5	Paler	,							
	3/0		43				5		MIX 172 SK OS ALS COMENT SEL- FLIN STATE TO BE AS LIST FSF LICE BATE PLY DOWN									
				المشتهد	-			4/	1 6	Cover	Colof	11:1	FUMIT	: L, v.				
<u>K55</u>	300		-1	-			E	1):	4	· 16.	13	5,41	7 1:	L	10			
	4 00 456		- 4	7	_		5	4.	f.7 p	SF								
	456		<				L,		Tie.	NUTT	,							
1/15	1500		Ÿ	1			-	12	1	LOUIN								
									·									
								1/:	13	:ti	(h) //		W - 22		08.3			
									***	Δ		. T = 1						
					\dashv) /	B CO.	<u>ar I la</u>	-/						
								-		18 197	1							
V2												11 1						